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Data/MC agreement: signal region
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Data/MC agreement
ROE variables

Focus on B — DY



M(ROE)

ROE variables

Could the ROE variables explain the data/MC disagreement?
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Data/MC agreement
Reweight ROE variables

Focus on B — D%v



Reweight ROE(M) variable: signal re

lon
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Reweight ROE(M) variable: signal region
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Reweight ROE variables: signal region
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Reweight ROE variables: signal region

ROE(M)xROE(P) reweighting ROE(M)xROE(E) reweighting ROE(P)xROE(E) reweighting
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Reweight ROE(M) variable: cosfyy sideband
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New sample: B — DYev
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